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(a) Write your Roll No. on the top immediately
on receipt of this question paper.
Tq 99995 & 9T B 9¥ gRa o ux Su
T [T fod |

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
T 99-UF & 397 e ar B BFEr o
arqr § i, AfeT g+t ST o & | A
aq = | '
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(c) Attempt all questions.

(d)

(€)

(f)

1. (a)

(b)

g el & IaL & |
All questions carry equal marks.
g uedt & A GHH © |

Use of simple calculator is allowed.

T egAel B TART HL THA ¢

Time-value tables will be provided.

m-wmmaﬁmﬁl

"The profit maximization is not an
operationally feasible criterion." Do you
agree ? Give reasons. 8
‘o oTfUETHIERIeT dfhareTe W9 W @i
Prepy =&t B 1”7 T oY TeHd & 7 T aE
FHIFTT | '
Mr. Vijay is borrowing ¥10 lakhs from a
bank for renovation of his house. Bank is
giving him two options. Option one is to
return this money in six equal annual
installments at rate of 7% p.a. Option two
is to return this money in equal half

installments over a period of six years at
annual rate of interest of 6.5%p.a. Which

option should he select and why ? s

(a)

(b)
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Wmmw%m%mh
q 10 9T 59 I Sar B | 6 IEDH G
< R Tedt ¥ | veer Rees ¥ g R

7% WA A & WY B axrE% B Rt

e gE ey ae § R afar
6.5%mm%m5:a&s§wg
m%ﬁrﬁﬁzﬁnaﬁﬁmﬁaﬁqaﬁw

OR
arerar

How.is cash flow different from accounting
profit ? Which one is better for capital

budgeting decisions ? Why ? 8
G AT Y VBT Tae Beg

N : ghT o=t
Bl B ? Iofvrr astest Pt & g @ —ar

JeqT B ? X H|f ?

Mr. A'nil is due to receive ¥ 8000 each year
for cflght consecutive years. However the
rgcelpts would start third year from now
.Fmd the present value of the sum receivedo
if the required rate of return is 12%. 7"

Fro sifver & 8000 2 ufterd @R

T el | qenfy it mﬁ%ﬂﬁ:?gi
B | ST o B A g s R R
gifed gfewe 2T 12% &)

3 P.T.O.
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Cash Inflows

U%Hs SAadars

Year | Machine X (%) Machine Y (%)
ad X #1f= (}) Y #gi9 (%)
1 1,00,000 3,00,000

2 3,00,000 4,00,000

3 4,00,000 5,00,000

4 6,00,000 3,00,000

5 4,00,000 2,00,000

The company has target return on capital
of 10% and on the basis you are required
to compare the profitability of machines and
state which alternative you consider to be
financially preferable. 10
Bl T giree e o # 10% B iYW
MY IT ATIH JAMAT & A9 T& Bl g
FET B oA Y S Fifve B o BRa
frepes @ facia w9 & orfmr= A B
OR

HEET
Sharda Ltd. is considering two mutually
exclusive machines. Both required an
initial outlay of ¥ 2,00,000 each and have
a life of five years. The company's required
S5 P.T.0.
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rate of return is 10% and pays tax at the
rate of 50%. The projects will be
depreciated on a straight line basis. The
profit before depreciation expected to be
generated by the projects are as follows :

gEr f[fHes & ey o= \efiHl 9x e
FHT @I 81 aA B g 2,00,000 T (96)

a2 ® Sl g1 Sflawt 5 & 8 | B

Fr gifesa gfaes gT 10% & 3T a8 50%
g HT adr 81 gfxgts|arent’ ux
¥

Year 1 2 a | 5
af

Machine | 80,000 | #0000 | 80,000 [ 80,000 80,000
1(T)
el 1
Maohine | 1,20,000( 60,000 | 40,000 | 1,00,000 |1,00,000
%)
a2 7)

You are required to calculate :
SYH! MO FHAT &

(i) The Net Present Value and Profitability
Index for each machine,
g A W Praer adbae ger o @
e i
6
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(ii) The Internal Rate of Return f9r each
machine.

v e @ R aRwEe @ SRS T

' ' hy?
Which machine should be accepted and W yls

ﬁmmmﬁmﬂmmmaﬂ?ﬁ?

3. (a) Explain and illustrate "Arbitrage I:’t'oces.s8
of MM theory of capital structure.

@—mﬂsmmmﬂ“mm"
e o |

(b) The following figures are taken from the
current balance sheet of a company :

S & =g g o @ Frered ofime for

M

Equity share capital
sl FaT TN
12% Preference shares ¥ 4,00,000
12% A AT
10% Debentures
10% a& fEa=r

7 P.T.O.
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The equity shares of company are quoted
at 110 and the company is expected to
declare a dividend of T 15 per share. Rate
of growth of dividend is 8% which is
expected to be maintained. Assuming tax
rate @ 40%. .
a%q#r%éﬁa'aweﬁra%qanoz%aﬁr
ore & 5 @O 15 T SRy ST @i S
aﬁi’ﬁlamisTa%qﬁﬁaTS%%vh%saﬁ@f
o5 @ BT B T 40% HE BT A |
(i) Calculate Weighted Average Cost of
Capital. (WACC)
é’?ﬁﬂ%mﬁaaﬁﬂﬁm(WACC)ﬂ
qfee o |
(ii) The company wants to raise additional
term loan of X 5,00,000 at 10%.
Calculate the revised WACC assuming
the market price of equity share has
gone down to X 105. 7
Faqft 10% 9T 5,00,000 T AR
sTfeees FOT TR HTAT e g AS
T B SREd AW B AR B
frcept 105 ¥ & T8 B

8
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OR

Irerar

(a) A company has an EBIT of ¥ 3,00,000 and

(b)

overall cost of capital 12.5%. The company
has debt of ¥ 5,00,000 borrowed @ 8%. Find
the value of the company using NOI
approach. Also show how change in debt
by ¥ 3,00,000 have impact on the cost of
equity of the company. 8
T H9+ B EBIT 3,00,000 2 8, i Ioit it
HHa @ 12.5% B | FIE 9T 5,00,000 2
ROT B ST 8% @ & 94X fem@r war B NoIl
SUTTH BT FANT Heh HIT BN G S B |
Hrey & e i @ =T § 3,00,000 2 &
R HE 9T FO H REE @ W
AT 92T B

The following particulars are related to
Seema Ltd. and Leena Ltd :

Fr=rfaiaa g @ [ifes oix & fes
q gefag B

9 P.T.O.
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Leena Ltd.

Particulars Seema Ltd.

) )
faaToT @ s | ot fefRs
Output and Sales 80,000 1,00,000
(Units)

Sared o e (Ffe)

Selling Price per unit () 10 8

gt gfve fmma @ima ()

Variable costs per unit (%) 4 3
gRadt e ofy afe (3)

Fixed cost (?) 2,40,000 2,50,000
IR AT (3)

Interest Burden on Debt (¥)] 1,20,000 50,000

FOT 9T =T H AIE ()

On the basis of data given above, compute :

HaT Ru mu erwmst |

(i) Operating leverage,

dithar aftatst

(i) Financial leverage and
facia dfes o
(ii1i)Combined leverage.

gy Siadst & ATFHAT Hifor |

10

4
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4. (a) Explain briefly the main determinants of

(b)

the dividend policy of the firm. T
% I arHieT ifa B ge M i dE@g J
ARAT BT |

Determine the Market value of equity
shares of the company from the following
information :

Fr=fefaa gaemedt & ®9 & sREd 993 &
T ged fFeiRa #Hifsg

Earnings of the Company ¥ 10,00,000
FIAT B MG

Dividend Paid ¥ 6,00,000
arsier f&=m

Number of Shares T 2,00,000
Outstanding

FHET XA B GEAT

Price Earning Ratio 8

BT ST ST

Rate of Return on 15%

Investment

FrEsr 9x nﬁm Hhl TL
11 P.T.O.
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(a)

(b)

Are you satisfied with the current dividend
policy of the firm ? If not, what should be
the optimum dividend payout ratio ? Use
Walter's model. 8
T AT HH B e AT AT F Gy ¥ ?
afe wE @ gead swEreht orua ¥ 8
Tifew ? awed dfge w1 99T Hom
OR

arerdgr

Explain Gordon's Model of Dividend
Decision . Explain its assumptions.

4§

Warmaﬂ%%ﬁ%ﬁﬁma%m
Fifome | gas el 3 arE i)

Heena Ltd. has a capital of ¥10,00,000 in
equity shares of ¥ 100 each. The shares
are currently quote at par. The company
proposes to declare a dividend of ¥ 10 per
share at the end of the current financial
year. The capitalization rate for the risk
class to which the company belongs is 12%.
What will be the market price of the share
at the end of the year, if " :

12
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& s & 9rg 100 2 e =R o
10,00,000 ¥ &t gsit & | A4 1 ae=T T
TG 9 B HN =g R o @ geriy
9T 10 R Hfer S @ @ igenm sy
el B | ShifEw antt s 3 R, B g
q B B, oo &% 12% B

I§ & ofd ¥ MW H AR T AT BT AR
(i) a dividend is not declared,

i B Argen JE o g Y,
(ii) a dividend is declared.

qrdier aifYe T fRar mr ¥

(iii) Assuming that the company pays the
dividend and has net profits of
¥ 10,00,000 and makes new investment
of ¥ 20,00,000 during the period, how
many new shares must be issued ? Use
the MM model. 8

g 9 o fF eu e 3 T ooix
g% ffae @ 10,00,000 T 8, 9% a8
9 9y § 20,00,000 T #r 73 BT
HEA & @ Bt o g7 ord e s
=R ? MM #Hied & ganr @it

13 P10,
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5. Compute the working requlrements from the Additional informations :
following details : 4
R awdiet @ S STatar @ s MBI |
ST (i) Debtors are allowed 7 weeks credit.
Budgeted Sales 40,000 units per a'x-mum IRl @ 7 G<E & #ifee Rar T 21
ot R gfre uREad 40,000 2 | '

(ii) Suppliers provide 4 weeks credit.

Raw Material %9
Cost per unit

k5 aeradt @y 4w w dve o ¥

FHed HA BH AT | - ; (iii) Raw material will be carried in stock for
gfer gfere = 4 weeks and finished goods for 2 weels,
Direct Labour per unit | 27 ‘ e qI 4 g & [T AT Y " B
et =H Afd qe 0 gwE @ fog Wi § & ST S
Overhead per unit et 9 (iv) Factory processing will take on an average
Total C ks v 4 weekn,
otal Cost per unit 19

alverey A4 e lﬂ‘iﬁl
e ArTe gfa gfee oy siwrer &

- Profit per unit 1 Assume labour and overhead expenses to
ars gt g accrue avenly throughout the production
Selling price Z20 cyole. In
per unit ' ‘ i wiet ofione P s afve ol W e
fepa ma o gfire et W Ao e e @ 81

14 . 15 P.T.O.
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OR
TEEr

Write short notes on the following :
5x3=15

Frfafaa o dfe fewferr fafag -
- (a) Cash Budget
Ahe Ioe
(b) Recorder Point for Inventory
o g B R R Reg
(c) Credit Policy
Hise T

16 6500



